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Ответы

1. (5×8) + (5×4) 60

2. (4×5) + (4×2) 28

3. (2×3) + (2×8) 22

4. (4×7) + (4×4) 44

5. (9×9) + (9×6) 135

6. (9×5) + (9×6) 99

7. (6×3) + (6×4) 42

8. (2×5) + (2×3) 16

9. (9×8) + (9×8) 144

10. (5×4) + (5×7) 55

Перепишите выражение, используя свойство распределения умножения, а затем
решите.

1) 5 × (8 + 4) (5×8) + (5×4) 60
Распределительное

свойство Отвечать

2) 4 × (5 + 2) (4×5) + (4×2) 28
Распределительное

свойство Отвечать

3) 2 × (3 + 8) (2×3) + (2×8) 22
Распределительное

свойство Отвечать

4) 4 × (7 + 4) (4×7) + (4×4) 44
Распределительное

свойство Отвечать

5) 9 × (9 + 6) (9×9) + (9×6) 135
Распределительное

свойство Отвечать

6) 9 × (5 + 6) (9×5) + (9×6) 99
Распределительное

свойство Отвечать

7) 6 × (3 + 4) (6×3) + (6×4) 42
Распределительное

свойство Отвечать

8) 2 × (5 + 3) (2×5) + (2×3) 16
Распределительное

свойство Отвечать

9) 9 × (8 + 8) (9×8) + (9×8) 144
Распределительное

свойство Отвечать

10) 5 × (4 + 7) (5×4) + (5×7) 55
Распределительное

свойство Отвечать
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